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	LEARNING OBJECTIVES

1.
Explain and apply the core principle of recognition of revenue.
2.
Explain and apply the criteria for recognizing revenue generated from contracts where performance obligations are satisfied over time.
3.
Determine the appropriate methods for measuring progress towards complete satisfaction of a performance obligation.

4.
Determine the contract costs to be recognized.

5.
Explain and apply the measurement principles

6.
Determine the recognition criteria for specified types of revenue terms.
7.
Disclose revenue from contracts with customers as appropriate in the financial statements.
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1.
Introduction
1.1
HKICPA issued HKFRS 15 Revenue from Contracts with Customers in June 2014 to replace a number of standards and interpretations, including:
(a)
HKAS 11 Construction Contracts
(b)
HKAS 18 Revenue

(c)
HK(IFRIC) 13 Customer Loyalty Programmes

(d)
HK(IFRIC) 15 Agreements for the Construction of Real Estate

(e)
HK(IFRIC) 18 Transfers of Assets from Customers

(f)
HK(SIC) Int 31 Revenue – Barter Transactions Involving Advertising Services
1.2
The new standard was issued with an effective date of 1 January 2017, later revised to 1 January 2018. Early adoption is permitted.
1.3
Under HKFRS 15 the transfer of goods and services is based upon the transfer of control, rather than the transfer of risks and rewards as in HKAS 18.

1.4
Control of an asset is described in the standard as the ability to direct the use of, and obtain substantially all of the remaining benefits from, the asset.
1.5
For straightforward retail transactions HKFRS 15 will have little, if any, effect on the amount and timing of revenue recognition. For contracts such as long-term service contracts and multi-element arrangements it could result in changes either to the amount or to the timing of revenue recognised.
2.
Scope
2.1
HKFRS 15 does not apply to revenue arising from:
(a)
lease contracts within the scope of HKAS 17 Leases;
(b)
insurance contracts within the scope of HKFRS 4 Insurance Contracts;

(c)
Financial instruments and other contractual rights or obligations within the scope of HKFRS 9 Financial Instruments, HKFRS 10 Consolidated Financial Statements, HKFRS 11 Joint Arrangements, HKAS 27 Separate Financial Statements; and

(d)
Non-monetary exchanges between entities in the same line of business to facilitate sales to customers or potential customers.
For example, this standard would not apply to a contract between two oil companies that agree to an exchange of oil to fulfil demand from their customers in different specified locations on a timely basis.

3.
Definitions
	3.1
	Key Terms

	
	(a)
A contract is an agreement between two or more parties that creates enforceable rights and obligations.
(b)
A contract asset is an entity’s right to consideration in exchange for goods or services that the entity has transferred to a customer when that right is conditioned on something other than the passage of time (e.g. the entity’s future performance).
(c)
A contract liability is an entity's obligation to transfer goods or services to a customer for which the entity has received consideration (or the amount is due) from the customer.
(d)
A customer is a party that has contracted with an entity to obtain goods or services that are an output of the entity's ordinary activities in exchange for consideration.

(e)
Income is increases in economic benefits during the accounting period in the form of inflows or enhancements of assets or decreases of liabilities that result in an increase in equity, other than those relating to contributions from equity participants.

(f)
A performance obligation (履約義務) is a promise in a contract with a customer to transfer to the customer either
(i)
A good or service (or a bundle of goods or services) that is distinct; or

(ii)
A series of distinct goods or services that are substantially the same and that have the same pattern of transfer to the customer.
(g)
Revenue is income arising in the course of an entity's ordinary activities.

(h)
Stand-alone selling price (of a good or service) [（商品或勞務之）單獨售價] is the price at which an entity would sell a promised good or service separately to a customer.

(i)
Transaction price (for a contract with a customer) [（客戶合約之）交易價格] is the amount of consideration to which an entity expects to be entitled in exchange for transferring promised goods or services to a customer, excluding amounts collected on behalf of third parties.


4.
Recognition and Measurement – Five-step Approach
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4.1
Five steps
4.1.1
HKFRS 15 takes a five-step approach to recognizing revenue:

(a)
Identify the contract(s) with a customer

(b)
Identify separate performance obligations

(c)
Determine the transaction price

(d)
Allocate transaction price to performance obligations

(e)
Recognise revenue as or when each performance obligation is satisfied
4.2
Transfer of control

4.2.1
Revenue is recognized when a customer obtains control of a good or service.
4.2.2
A customer obtains control when it has the ability to direct the use of and obtain the benefits from the good or service.

4.2.3
Transfer of control is not the same as transfer of risks and rewards, nor is it necessarily the same as the culmination (結果) of an earnings process as it is considered today.

4.2.4
Entities will also need to apply new guidance to determine whether revenue should be recognized over time or at a point in time.
4.3
Step 1: Identify the contract(s) with a customer
	4.3.1
	Criteria of identifying a contract

	
	An entity shall account for a contract with a customer that is within the scope of this Standard only when all of the following criteria are met:
(a)
the parties to the contract have approved the contract (in writing, orally or in accordance with other customary business practices) and are committed to perform their respective obligations;

(b)
the entity can identify each party’s rights regarding the goods or services to be transferred;

(c)
the entity can identify the payment terms for the goods or services to be transferred;

(d)
the contract has commercial substance (i.e. the risk, timing or amount of the entity’s future cash flows is expected to change as a result of the contract); and

(e)
it is probable that the entity will collect the consideration to which it will be entitled in exchange for the goods or services that will be transferred to the customer.

In evaluating whether collectability of an amount of consideration is probable, an entity shall consider only the customer’s ability and intention to pay that amount of consideration when it is due.

The amount of consideration to which the entity will be entitled may be less than the price stated in the contract if the consideration is variable because the entity may offer the customer a price concession.


4.3.2
If a contract does meet these criteria at contract inception, a reporting entity need not reassess the criteria unless there is a significant change in facts and circumstances.
4.3.3
If a contract does not meet these criteria, it should be assessed on a continual basis to determine whether the criteria are subsequently met. Under this situation, the entity shall recognize the consideration received as revenue only when:
(a)
the entity has no remaining obligation to transfer goods or services to the customer and all, or substantially all, of the consideration has been received and is non-refundable; or

(b)
the contract has been terminated and the consideration received from the customer is non-refundable.

	4.3.4
	Example 1 – Collection of consideration

	
	Z Company sells a product to a new customer in a region that is experiencing severe economic recession. The decision to trade with the customer is a strategic move as it is expected that the economic conditions will improve in the future and sales volumes from the region will increase. The contractually agreed price is $600,000, however due to the current economic problems, Z Company believes at the inception of the contract that it will recover only 75% of this price from the customer.
Required:

Is this transaction within the scope of HKFRS 15?
Solution:

HKFRS 15 is applied if a contract can be identified and the four conditions relating to the contract are met. In this case the issue is whether ‘it is probable that the entity will collect the consideration to which it will be entitled’. As Z Company believes it will receive partial payment for performance, it can be concluded that $450,000 of the contract price will be recovered. Therefore, assuming that the other criteria to identify a contract are met, HKFRS 15 is applied.
The difference between the contract price and the consideration that Z Company expects to receive is a price concession.


4.3.5
Contracts are combined and accounted for as a single contract. If
(a)
they are entered into at or near the same time;

(b)
they are entered into with the same customer, or related parties of the customer; and

(c)
one or more of the following criteria is met:

(i)
the contracts are negotiated as a package with a single commercial objective,
(ii)
the amount of consideration to be paid in one contract depends on the price or performance of the other contract, or

(iii)
all or some of the goods or services promised in the contracts are a single performance obligation (Step 2 below).

4.4
Step 2: Identify performance obligations
4.4.1
The key point is distinct goods or services.
4.4.2
A contract includes promises to provide goods or services to a customer. Those promises are called performance obligations.

4.4.3
If those goods or services are distinct, the promises are performance obligations and are accounted for separately.

4.4.4
These are separately identified and accounted for if:

[image: image3.emf]
4.4.5
If goods or services are not distinct, the reporting company must combine them with other promised goods or services until a bundle of goods or services that is distinct can be identified.

	4.4.6
	Example 2 – Performance obligations

	
	Monument Building Services Co (MBS) constructs properties for customers. It has recently signed a contract to build a retail outlet for Fashion Focus Co. MBS is responsible for designing the building, purchasing raw materials, site preparation, construction, wiring, plumbing and finishing.
Required:

Identify the performance obligation(s) in the contract.
Solution:

MBS provides Fashion Focus Co with goods and services that are capable of being distinct (e.g. building design services could be sold separately, as could the other elements of the contract).

In the context of this contract, however, MBS is contracted to provide a significant service of integrating the inputs in order to produce a single output being the retail outlet. Therefore the provision of each good or service is not separately identifiable and so not distinct. There is only a single performance obligation, being the development of the property.


	4.4.7
	Example 3 – Performance obligations

	
	Trainor Technical Services Co (TTS) supplies computer aided design packages to customers. It has recently signed a contract with Koala Design to provide a licence to use a software package, installation service (which does not involve customising the software package) and technical support for four years. TTS is not the only company that could install the software and provide technical support.
Required:

Identify the performance obligation(s) in the contract.
Solution:

Each element of the contract could be used by the customer individually and is separately identifiable i.e. the provision of the licence by TTC is not dependent on or highly interrelated with other goods and services promised in the contract and would not be significantly affected if Koala Design elected to use one of TTC's competitor's installation services and technical support services.
Therefore there are three distinct performance obligations in the contract, being:

1.
Provision of the licence

2.
Installation of the software

3.
Provision of technical support.


4.5
Step 3: Determine transaction price (Measurement)
4.5.1
The transaction price is the amount of consideration that a company expects to receive from a customer in exchange for transferring goods and services. The transaction price in a contract is often easily determined because the customer agrees to pay a fixed amount to the company over a short period of time. In other contracts, companies must consider the following factors.
(a)
Variable consideration

(b)
Significant financing component
(c)
Non-cash consideration
(d)
Refund liabilities

(e)
Consideration paid or payable to customers

(a)
Variable consideration

4.5.2
In some cases, the price of a good or service is dependent on future events. These future events might include discounts, rebates, credits, performance bonuses, or royalties.
4.5.3
In these cases, the company estimates the amount of variable consideration it will receive from the contract to determine the amount of revenue to recognize.

	4.5.4
	Basis of variable consideration

	
	Variable consideration is included in the transaction price based on either:

(a)
Its expected value (the sum of probability weighted amounts in a range of possible outcomes), or

(b)
The single most likely amount (the single most likely amount in a range of possible consideration amounts).


4.5.5
Companies select among these two methods based on which approach better predicts the amount of consideration to which a company is entitled. The following table highlights the issues to be considered in selecting the appropriate method.
	Expected value
	Most likely amount

	· May be appropriate if a company has a large number of contracts with similar characteristics.

· Can be based on a limited number of discrete (不連接的) outcomes and probabilities.
	· May be appropriate if the contract has only two possible outcomes.


	4.5.6
	Example 4 – Variable consideration: expected value

	
	In January 2016 College Properties Ltd (CPL) enters into a contract to build an extension to an existing warehouse for an agreed fee of $40 million. The contract terms require completion by 30 September 2016. The price will decrease by $100,000 for each day after this that the project remains incomplete. At the year-end of 30 June 2016, CPL expect that there is a 75% chance of the project being completed on time, a 15% chance of it being completed a day late, a 6% chance of it being completed two days late and a 4% chance of it being completed three days late.
Required:

What is the transaction price?

Solution:
The consideration is variable due to the price concession, i.e. the fact that CPL will accept an amount that is less than the price stated in the contract if the project overruns.
Here the calculation of transaction price is based on expected values.
$

75% × $40,000,000
30,000,000

15% × $39,900,000
5,985,000

6% × $39,800,000
2,388,000

4% × $39,700,000
1,588,000

Transaction price

39,961,000




	4.5.7
	Example 5 – Variable consideration: single most likely amount

	
	In March 2016 College Properties Ltd (CPL) enters into another contract to extend a retail unit for an agreed fee of $30 million. The contract terms state that if the extension is completed by 30 November 2016, a 10% bonus ($3 million) becomes payable. CPL expect that there is a 70% chance of the project being completed by 30 November 2016.
Required:

What is the transaction price?

Solution:
The consideration is variable due to the performance bonus i.e. the fact that CPL will receive an amount that is more than the price stated in the contract if the project is completed by 30 November 2016.
Here the calculation of transaction price could be based on expected values. However, the single most likely outcome may be more appropriate as there are only two possible outcomes. The single most likely outcome is the receipt of $33 million, therefore this is the transaction price. Although at the inception of the contract, CPL could have chosen to use either the expected value method or the single most likely outcome method to estimate variable consideration, it must apply the chosen method consistently throughout the contract.


	4.5.8
	Example 6 – Variable consideration and volume discount

	
	In January 2016 Smeaton Traders (ST) signed a year-long contract to supply front doors to a residential construction company. The contract stipulated a price of $800 per door, which would drop to $700 per door if a minimum of 500 were purchased in the year. During the first quarter of 2016, the construction company purchased 50 doors, and, having considered its experience with this product and the purchasing pattern of the construction company, ST determined that it was not highly probable that the customer would purchase a further 450 doors during the year. In June 2016, the construction company purchased 110 doors and advised ST that as a result of a new contract obtained to build several apartment blocks in the second half of the year, it expected its demand for doors to increase to approximately 250 per quarter.

Required:

What amount of revenue is recognised in quarter 1 and quarter 2 of 2016?

Solution:

Quarter 1

In this quarter, ST do not expect the number of doors sold to exceed the minimum threshold of 500 and therefore a significant reversal of revenue is not highly probable. Therefore revenue is recognised based on a price of $800 per door. Total revenue recognised is $40,000 ($800 × 50).

Quarter 2

In quarter 2, based on new facts available in June 2016, ST estimates that the customers' annual purchases will exceed the threshold of 500 units, thereby triggering a price reduction to $700 per door.
Revenue in quarter 2 is therefore calculated to include a retrospective adjustment to quarter 1's revenue:
$

Quarter 2 sales ($700 × 110)
77,000
Quarter 1 adjustment: price reduction × quantity sold ($100 × 100)

(5,000)
Quarter 2 revenue

72,000




(b)
Significant financing component
4.5.9
Timing of payment to the company sometimes does not match the transfer of the goods or services to the customer. In most situations, companies receive consideration after the product is provided or the service performed. In essence, the company provides financing for the customer.

4.5.10
Companies account for the time value of money if the contract involves a significant financing component. In order to determine whether there is a significant financing benefit, the following should be considered:
(a)
The difference between promised consideration and the cash selling price of goods or services, and

(b)
The combined effect of the length of time between payment and provision of goods or services and the prevailing interest rates in the relevant market.

4.5.11
HKFRS 15 does not require adjustment where receipt of payment from the customer will be one year or less from the date on which the promised goods or services are transferred.
4.5.12
When adjusting transaction price for a significant financing component, HKFRS 15 requires that the discount rate that would be reflected in a separate financing transaction between the seller and customer at contract inception is applied. This rate is not subsequently updated.
	4.5.13
	Example 7 – Significant financing component – advanced payment from customer

	
	During 20X6, Snowdrop Construction Ltd (SCL) enters into a contract to build a new retail unit for a customer. Completion of the property is scheduled for one year's time and control of the unit will pass to the customer at this time (i.e. performance obligations satisfied at a point in time). Rather than pay SCL $12 million on completion, the customer agrees to pay a reduced price of $10.9 million at the inception of the contract (a year before completion). The interest rate implicit in the contract is 10% and SCL's incremental borrowing rate is 7%.
Required:

What accounting entries are required to recognise the sale transaction?

Solution:
The contract contains a significant financing component, i.e. the customer is providing SCL with funds at the start of the project, so removing the need for SCL to secure funding from an alternative source such as a bank. The financing component can be considered significant due to the difference between the promised consideration ($10.9 million) and cash selling price ($12 million) of the property and because of the combined effect of the expected length of time between payment and transferring the property (one year) and the prevailing interest rates in the market (7%) (HKFRS 15.61).

At the inception of the contract, the cash advance is recognised by:
Dr. ($)

Cr. ($)

Bank
10,900,000
Contract liability
10,900,000
Over the one-year construction period, interest accrues at SCL’s incremental borrowing rate:
Dr. ($)

Cr. ($)

Interest expense (10.9m × 7%)
763,000
Contract liability
763,000
The interest rate applicable to the transaction will not always be the rate implied by the contractual terms of the sales transaction; the interest rate that would apply to a borrowing arrangement (here the rate that SCL would be charged by a bank) is required by HKFRS 15.64.
At the date on which the unit transfers to the customer:
Dr. ($)

Cr. ($)

Contract liability
11,663,000
Revenue
11,663,000
As consideration is expected to be within one year, SCL can choose to take advantage of the practical expedient offered by HKFRS 15.63 and not adjust the amount of consideration for the financing component. In this case the accounting entries are as follows:
At the inception of the contract, the cash advance is recognized by:

Dr. ($)

Cr. ($)

Bank
10,900,000
Contract liability
10,900,000
At the date on which the unit transfers to the customer:

Dr. ($)

Cr. ($)

Contract liability
10,900,000
Revenue
10,900,000



	4.5.14
	Example 8 – Significant financing component – interest free credit

	
	Wells Furniture Limited (WFL) has a year-end of 28 February and sells furniture to the general public offering interest free credit. On 12 March 2015 the company sells furniture (for immediate delivery) with a total selling price of $250,000, payable by the customer after two years' interest free credit. A market annual rate of interest on the provision of consumer credit to similar customers is 4%.

Required:

What journal entries are made to recognise the transaction in the years ended 28 February 2016 and 2017?
Solution:

There is a significant financing component in the contracts for sale. The transaction price should reflect the cash selling price on 1 March 2015.

The transaction price is therefore:

$250,000/1.042 = $231,139.

12 March 2015

The day's sales are recognised by:
Dr. ($)

Cr. ($)

Receivables
231,139
Revenue
231,139
The balance of money receivable of $18,861 ($250,000 – $231,139) accrues to the receivable balance and is recognised as finance income over the credit period as follows:
Year ended 28 February 2016
Dr. ($)

Cr. ($)

Receivable (231,139 × 4%)
9,246
Interest income
9,246
(To unwind the first year’s interest)
The receivable is now stated at $240,385 (231,139 + 9,246)
Year ended 28 February 2017
Dr. ($)

Cr. ($)

Receivable (240,385 × 4%)
9,615
Interest income
9,615
(To unwind the second year’s interest)
The receivable is now stated at $250,000 (240,385 + 9,615)
Dr. ($)

Cr. ($)

Cash
250,000
Receivable
250,000
(To recognize receipt of payment from the customer)



(c)
Non-cash consideration
4.5.15
Companies sometimes receive consideration in the form of goods, services or other non-cash consideration. When these situations occur, companies generally recognize revenue on the basis of the fair value of what is received.
4.5.16
If the fair value of what is received cannot be reasonably estimated, then it should estimate the selling price of the goods or services performed and recognize this amount as revenue.
(d)
Refund liabilities

4.5.17
Some contracts allow the customer to return goods and receive a refund, a credit note to be applied against future transactions or another product in exchange. When a selling company expects products to be returned, it should not recognise revenue, but should instead recognise a refund liability as well as an asset representing items expected to be returned.

4.5.18
Refund liabilities should be assessed and updated at the end of each reporting period.
(e)
Consideration payable to a customer

4.5.19
A seller may pay consideration to a customer in the form of cash amounts, credit or other items (such as coupons or vouchers).
4.5.20
Consideration paid or payable to a customer that is not in exchange for a distinct good or service is accounted for as a reduction in transaction price. The reduction in revenue is recognized at the later of:

(a)
the point at which revenue is recognized for the transfer of related goods or services

(b)
the point at which the entity pays or promises to pay the consideration
	4.5.21
	Example 9 – Consideration payable to a customer

	
	A manufacturer of reading glasses See Well Ltd (SWL) enters into a contract to sell goods to a high street chain of stores, Eye Trend. The terms of the contract require Eye Trend to purchase at least $5 million of goods from SWL over a 12-month period and also require Eye Trend to purchase specialist display cabinets for SWL products. At the start of the contract SWL makes a nonrefundable payment of $500,000 to Eye Trend as contribution towards the cost of the display cabinets.
Required:

How is the $500,000 payment to Eye Trend accounted for at the start of the contract and over the following 12-month period?

Solution:
The payment of $500,000 to Eye Trend is not in exchange for distinct goods and services since SWL does not gain control of the display cabinets. Therefore the $500,000 is accounted for as a reduction in the selling price of glasses to Eye Trend.

At start of contract
SWL should initially recognise the payment of the $500,000 by:
Dr. ($)

Cr. ($)

Revenue contract asset
500,000
Bank
500,000
Over following 12-month period

The $500,000 is released to profit or loss over the 12-month contract with Eye Trend to reduce revenue over that period:

Dr. ($)

Cr. ($)

Revenue
500,000
Revenue contract asset
500,000



4.6
Step 4: Allocate transaction price to performance obligations (measurement)
4.6.1
Companies often have to allocate the transaction price to more than one performance obligation in a contract.
4.6.2
If an allocation is needed, the transaction price allocated to the various performance obligations is based on their relative fair values. The best measure of fair value is what the company could sell the good or service for on a standalone basis, referred to as the standalone selling price.

4.6.3
If this information is not available, companies should use their best estimate of what the good or service might sell for as a standalone unit. The following table summarizes the approach that companies follow.

	Allocation approach
	Implementation

	1.
Adjusted market assessment approach
	· Evaluate the market in which it sells goods or services and estimate the price that customers in that market are willing to pay for those goods or services.

· That approach also might include referring to prices from the company’s competitors for similar goods or services and adjusting those prices as necessary to reflect the company’s costs and margins.

	2.
Expected cost plus margin approach
	· Forecast expected costs of satisfying a performance obligation and then add an appropriate margin for that good or service.

	3.
Residual approach
	· If the standalone selling price of a good or service is highly variable or uncertain, then a company may estimate the standalone selling price by reference to the total transaction price less the sum of the observable standalone selling prices of other goods or services promised in the contract.
· HKFRS 15 is clear that the residual approach is only appropriate if one of the following criteria is met:

· The entity sells the same good or service to different customers (at or near the same time) for a broad range of amounts, meaning that a representative standalone selling price is not discernible (可識別的) (highly variable); or

· The entity has not yet established a price for the good or service and it has not previously been sold on a standalone basis (uncertain).


	4.6.4
	Example 10 – Allocation of transaction price

	
	The contract between Trainor Technical Services Co (TTS) and Koala Design (see Example 3) is priced at $6,000. The stand-alone selling prices of each element are as follows:
$
Provision of a licence
5,000
Installation service

1,500

Provision of technical support

3,000

9,500

Solution:

Licence provision = $5,000 / $9,500 × $6,000 = $3,158

Installation service = $1,500 / $9,500 × $6,000 = $947

Technical support service = $3,000 / $9,500 × $6,000 = $1,895


	4.6.5
	Example 11 – Allocation – multiple performance obligations

	
	Lonnie Company enters into a contract to build, run and maintain a highly complex piece of electronic equipment for a period of 5 years, commencing upon delivery of the equipment. There is a fixed fee for each of the build, run and maintenance deliverables, and any progress payments made are non-refundable. All the deliverables have a standalone value. There is verifiable evidence of the selling price for the building and maintenance but not for running the equipment. It is determined that the transaction price must be allocated to the three performance obligations: building, running and maintaining the equipment.

Required:

What procedure should Lonnie Company use to allocate the transaction price to the three performance obligations?
Solution:

The performance obligations relate to building the equipment, running the equipment and maintaining the equipment. As indicated,

· Lonnie can determine standalone values for the equipment and the maintenance agreements.

· The company can then make a best estimate of the selling price for running the equipment, using the adjusted market assessment approach or expected cost plus a margin approach.

· Lonnie next applies the relative fair value method at the inception of the transaction to determine the proper allocation to each performance obligation.

· Once the allocation is performed, Lonnie recognizes revenue independently for each performance obligation using regular revenue recognition criteria.

· If, on the other hand, the standalone selling price for running the equipment is highly variable or uncertain, Lonnie may use a residual approach.

· In this case, Lonnie uses the fair values of the equipment and maintenance agreements and subtracts their fair value from the total transaction price to arrive at a residual value for running the equipment.


(a)
Allocation of discount

	4.6.6
	Allocation of discount

	
	A customer may receive a discount for purchasing a bundle of goods and/or services. This is the case where the total price for the bundle is less than the sum of individual prices of each of the items included in the bundle. Unless there is observable evidence that the discount only relates to certain performance obligations within the contract, it is allocated proportionately to all performance obligations in the contract on the basis of their stand-alone selling prices.
The discount is allocated only to certain performance obligation(s) in the contract rather than all of them if all of the following conditions are met:
(a)
The entity regularly sells each distinct good or service (or each bundle of distinct goods or services) in the contract on a stand-alone basis;
(b)
The entity regularly sells on a stand-alone basis a bundle (or bundles) of some of those distinct goods or services at discount to the stand-alone selling prices of the goods or services in each bundle; and

(c)
The discount attributable to each bundle of goods or services is substantially the same as the discount in the contract and an analysis of the goods or services in each bundle provides observable evidence of the performance obligation (or performance obligations) to which the entire discount in the contract belongs.


	4.6.7
	Example 12 – Allocation of discount

	
	Voss Electricals (VE) regularly sells three products HNC1, DCS11 and AB5 at stand-alone selling prices of $500, $550 and $450 respectively. The company also regularly sells DCS11 and AB5 as a bundle at a price of $600.
A customer enters into a contract with VE to purchase HNC1, DCS11 and AB5 together at a cost of $1,100. VE will deliver each product to the customer at a different time.
Required:

Explain how the transaction price of $1,100 is allocated to each of the products.

Solution:
· The stand-alone selling prices of the goods total $1,500 ($500 + $550 + $450), meaning that a discount is offered in the contract of $400 ($1,500 – $1,100).
· The discount should be allocated to DCS11 and AB5 only rather than to all three products. This is because:
1. VE regularly sells each product on a stand-alone basis, and

2. VE regularly sells a bundle of DCS11 and AB5 at a discount to their stand-alone selling prices, and

3. The discount attributable to a bundle of DCS11 and AB5 is $400 ($550 + $450 – $600) and this is the same as the discount in this contract
· Therefore $500 of the transaction price is allocated to HNC1. This is the same as the stand-alone selling price of HNC1, i.e. HNC1 is not allocated any discount.
· The remaining $600 of the transaction price is allocated to DCS11 and AB5. Since control of these products is transferred at different times, they represent separate performance obligations and each is allocated a proportion of the $600 based on stand-alone selling prices as follows:

DCS11 ($550/($550 + $450) × $600) = $330

AB5 ($450/($550 + $450) × $600 = $270


(b)
Allocation of variable consideration
4.6.8
Variable consideration that is promised within a contract may be related to all or only part of the contract (i.e. only specific performance obligations).

4.6.9
Variable consideration is allocated entirely to a performance obligation or transfer of distinct goods/services if:

(a)
the terms of the variable payment related specifically to that performance obligation or transfer, and

(b)
allocating the variable consideration in its entirety to the performance obligation/transfer is consistent with the objective that the selling price is allocated to each performance obligation in order to reflect the consideration to which the vendor expects to be entitled in exchange for the good or service.

(c)
Changes in contract price after contract inception
4.6.10
The transaction price is not fixed in some contracts, but may vary due to the outcome of certain events or changes in circumstances.

4.6.11
Changes in transaction price after the inception of a contract are allocated to performance obligations within the contract on the same basis as the transaction price is allocated at the start of the contract. There is no reallocation to reflect changes in stand-alone selling prices.

4.6.12
If the performance obligation to which variable consideration is allocated has been satisfied then revenue is recognised (or reduced) in the period in which the transaction price changes.

4.6.13
A change in transaction price is allocated only to certain performance obligations rather than all performance obligations in a contract only where the criteria for allocating variable consideration on this basis are met.
4.7
Step 5: Recognise revenue when performance obligations are satisfied
4.7.1
A company satisfies its performance obligation when the customer obtains control of the good or service.
4.7.2
As indicated earlier, the concept of change in control is the deciding factor in determining when a performance obligation is satisfied.

4.7.3
The customer controls the product or service when it has the ability to direct the use of and obtain substantially all the remaining benefits from the asset or service.
4.7.4
Control also includes the customer’s ability to prevent other companies from directing the use of, or receiving the benefits, from the asset or service.

4.7.5
Depending on the performance obligation it may be satisfied at a single point in time or over a period time.
	4.7.6
	Criteria for a performance obligation being satisfied over time

	
	A performance obligation is satisfied over time if any of the following criteria is met:

(a)
The customer simultaneously receives and consumes the benefits provided by the entity's performance as the entity performs.
Example: a cleaning service
(b)
The entity's performance creates or enhances an asset that the customer controls as the asset is created or enhanced.
Example: Customised software that is being written into a customer’s existing IT infrastructure
(c)
The entity's performance does not create an asset with an alternative use to the entity and the entity has an enforceable right to payment for performance completed to date.

The seller does not have an alternative use for an asset if it cannot direct the asset for another use or if it would incur significant economic losses to do so.
Example: in a manufacturing contract if a design is unique to one customer and so to redirect goods to another customer would require significant rework.


4.7.7
If an entity does not satisfy a performance obligation over time (i.e. the criteria above are not met), the performance obligation is satisfied at a point in time.
(a)
Performance obligation satisfied at a single point in time

4.7.8
Where a performance obligation is satisfied at a single point in time, the following indicators should be considered in determining when the customer obtains control of the asset:

(a)
whether the entity has a present right to payment for the asset
(b)
whether the entity has transferred legal title to the asset

(c)
whether the entity has transferred physical possession of the asset

(d)
whether the entity has transferred the risks and rewards of ownership of the asset to the customer

(e)
whether the customer has accepted the asset

(b)
Performance obligation satisfied over a period of time

4.7.9
Revenue is only recognised when an entity can reasonably measure the outcome of a performance obligation.

4.7.10
In the early stages of a contract this is not always possible, and in this case revenue is recognised to the extent of costs incurred that are expected to be recovered. This applies until the outcome can be reasonably measured.
	4.7.11
	Methods of measuring the degree of completion of performance obligation

	
	Where an entity can reasonably measure the outcome of a performance obligation, revenue is recognised based on progress towards satisfaction of the performance obligation.

Progress is measured by way of either an input or output method that would provide a faithful depiction of the entity's performance towards complete satisfaction of the performance obligations.
(a)
Input methods may include the proportion of costs incurred, labour hours or machine hours worked or time elapsed.
(b)
Output methods may include the number of units produced, work certified or contract milestones.


4.7.12
Where an input method is used and some inputs do not contribute towards meeting a performance obligation (such as wasted materials), then these are ignored when measuring progress towards satisfaction of the performance obligation.
4.7.13
The method applied to measure progress must be used consistently for each performance obligation satisfied over time, and the same method must be applied to similar performance obligations in similar circumstances.
	4.7.14
	Example 13 – Satisfaction of performance obligation(s)

	
	Trott Builders Ltd (TBL) is developing a shopping centre that contains a number of retail units. A customer, Retail Experts Ltd (REL) enters into a binding contract with TBL on 1 August 2016 for a specified unit that is being constructed. All units are of similar size, however, other attributes are different e.g. some units have a larger window space due to being a corner unit.
Required:

Is the performance obligation satisfied by TBL at a single point in time or over time in each of the following cases?

(a)
REL pays a deposit to TBL on 1 August 2016, with the remainder of the price payable on completion when REL has physical possession of the unit. The deposit is refundable to REL only if TBL fails to complete construction of the unit in accordance with contract terms; if REL defaults on the contract before completion of the unit, TBL can retain the deposit but has no right to further funds.

(b)
REL pays a non-refundable deposit to TBL on 1 August 2016 and must make progress payments to TBL during construction. TBL may not direct the unit to another customer during the contract and REL does not have the right to terminate the contract unless TBL fail to perform as promised. If REL fails to make the agreed progress payments and TBL complete the construction of the unit, TBL has the right to receive all payments that were due from REL. The courts have previously upheld developers' rights to payments in similar cases.
Solution:
In both cases, TBL should determine on 1 August 2016 whether the promise to construct and transfer the retail unit to the customer is a performance obligation satisfied at a point in time or over time.
(a)
In this case TBL does not have a right to payment for work completed at a given point in time; TBL is only entitled to the deposit paid by the customer until construction is complete. Therefore the performance obligation is satisfied at a single point in time, being when the customer obtains control of the retail unit.

(b)
In this case the unit does not have an alternative use to TBL as it cannot transfer the unit to another customer. Furthermore, TBL has the right to payment for performance completed to date as a result of the terms of the contract and legal precedent. Therefore the performance obligation is satisfied by TBL over time.


	4.7.15
	Example 14 – Performance obligation satisfied over time

	
	Peninsula Construction Company (PCC) begins the construction of a conference centre on behalf of a hotel group during 20X6. The agreed contract price is $35 million however this will be reduced by $3 million if PCC completes the centre a month or more behind schedule. During the year ended 31 December 20X6, costs incurred amounted to $9.3 million, including $500,000 material that could not be used in the project as it was of the incorrect grade to meet regulations. The total cost of the project (excluding the $500,000 in wasted material) is estimated to be $22 million. Work certified at the year-end was $12.25 million.
The construction is currently progressing in accordance with the agreed schedule.

Required:

(a)
What amount of revenue is recognised in profit or loss in the year ended 31 December 20X6 if an input method is used to assess progress?

(b)
What amount of revenue is recognised in profit or loss in the year ended 31 December 20X6 if an output method is used to assess progress?
Solution:
The transaction price is $35 million. $32 million is fixed compensation and $3 million is variable consideration. The transaction price is $35 million as the project is currently expected to be completed on time and therefore the single most likely outcome is receipt of $35 million.
(a) Input method

Using the input method the project is 40% complete:

Costs incurred to date

=
(9,300 – 500)
=

40%

Total expected costs
22,000
Therefore 40% × $35m = $14m is recognized as revenue in the year.

Note that the $500,000 wasted material is not relevant to the assessment of progress, however, it must be recognized in profit or loss as a wastage expense.

(b) Output method

Using the output method the project is 35% complete:
Work certified

=
12,250

=

35%
Transaction price
35,000
Therefore 35% × $35m = $12.25m is recognized as revenue in the year.


5.
Modifications to Contracts
5.1
Contract modification

5.1.1
Companies sometimes change the contract terms while it is ongoing; there is referred to as a contract modification. When a contract modification occurs, companies determine whether a new contract (and performance obligations) results or whether it is a modification of the existing contract.
5.1.2
A contract modification is accounted for as a separate contract if:
(a)
the scope of the contract changes because additional distinct goods or services are promised, and

(b)
the increase to the contract price reflects the standalone selling price of the additional goods or services promised.

5.1.3
The following decision tree is applied:
[image: image4.emf]
	5.1.4
	Example 15 – Modifications to contracts

	
	At the start of 20X6, the Asia Luggage Company (ALC) entered into a contract to sell 6,000 leather mobile phone cases to a customer over the course of 20X6 at an agreed price of $80 per case. The cases would be supplied evenly throughout the year at a rate of 500 per calendar month.
At the end of June 20X6, the customer requests the order for each of the remaining months of the contract to be increased to 600 units. The contract is changed to require the delivery of an extra 100 units per month at a price of $65, which is the stand-alone selling price of a phone case at the modification date.
Required:

(a)
How is the contract accounted for?

(b)
How would the contract be accounted for if the price for the additional 100 units were $65 but the stand-alone price of the units at the modification date were $75?
Solution:
(a)

January – June 2016
Revenue of 3,000 × $80 = $240,000 is recognized.
Modification
· The scope of the contract changes because additional distinct goods are promised (i.e. the additional 600 units are not included in the original contract), and

· The increase to the contract price reflects the stand-alone price of the additional cases ($65).
Therefore the modification is accounted for as a separate contract for the additional 600 units.
July – December 2016
Revenue of 3,000 × $80 = $240,000 is recognised in respect of the original contract.
Revenue of 600 × $65 = $39,000 is recognised in respect of the new contract.
(b)

January – June 2016
Revenue of 3,000 × $80 = $240,000 is recognized.
Modification

· The scope of the contract changes because additional distinct goods are promised, however, the contract price does not reflect the stand-alone price ($75) of the additional cases.

Therefore the modification is not accounted for as a separate contract. The remaining goods to be provided are distinct and therefore the existing contract is treated as being terminated and a new contract deemed to exist for the remaining six months of 2016.
July – December 2016
The weighted average price of each case provided in the last six months of the year is:
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Therefore revenue of 600 × $77.50 = $46,500 is recognised per month, giving total revenue of $279,000



5.2
Changes in the Transaction Price after Contract Modification
5.2.1
A change to transaction price that arises as the result of a contract modification is accounted for in accordance with section 5.1 above. A change to transaction price that arises after a contract modification is accounted for in one of the following ways:
(a)
The change in price is allocated to the performance obligations identified in the original contract if the variable consideration was promised before the contract modification;

(b)
The change in price is allocated to the performance obligations identified in the modified contract if the variable consideration was promised after the contract modification and the modification was not accounted for as a separate contract.
	5.2.2
	Example 16 – Changes in transaction price after a modification

	
	Kenny Trading Ltd (KTL) enters a contract on 1 February 2016 to transfer product A and Product B to a customer. Consideration includes a fixed element, being $1 million, and a variable element, estimated in accordance with HKFRS 15 at $200,000. Product A and Product B have the same stand-alone selling prices and the variable consideration is allocated to both in accordance with HKFRS 15. Product A is delivered immediately on 1 February 2016 and Product B is to be delivered on 1 August 2016.
On 1 June 2016, the contract is modified to include the promise of a third product, Product C, to be delivered on 1 October 2016. The price of the contract is increased by $300,000 (a fixed amount) which does not represent the stand-alone selling price of Product C. The stand-alone selling price of Product C is the same as that of Products A and B.
On 1 July 2016, KTL revises its estimate of the variable consideration to which it expects to be entitled to $240,000. It is highly probable that a significant reversal in cumulative revenue recognised will not occur when the uncertainty is reversed.
Required:

(a)
What revenue is recognised by KTL on 1 February when Product A is delivered to the customer?

(b)
Explain how the modification to the contract on 1 June 2016 is accounted for.

(c)
Explain how the revision to variable consideration is accounted for and therefore what revenue is recognised when the performance obligations relating to Products B and C are satisfied.
Solution:
(a)

The transaction price of $1.2 million is allocated equally between the promise to deliver Product A and the promise to deliver Product B, because both products have the same stand-alone selling price. Therefore $600,000 revenue is recognised by KTL on 1 February 2016.
(b)

The modification is accounted for as a termination of the existing contract and the creation of a new contract. This is because Products B and C are distinct from Product A and the promised consideration for Product C does not reflect its stand-alone selling price.
The consideration initially allocated to Product B ($600,000) and the $300,000 promised in the modification give a total transaction price for the new contract of $900,000. This is allocated equally to the promise to deliver Product B and the promise to deliver Product C. Therefore $450,000 is allocated to each performance obligation.
(c)

Before the performance obligations relating to the delivery of Products B or C are satisfied, the estimated amount of variable consideration changes from $200,000 to $240,000. This consideration was promised before the modification and therefore the change in transaction price is allocated between the performance obligations to deliver Product A and Product B on the same basis as at contract inception.
Therefore an additional $20,000 revenue is recognised immediately in respect of the satisfaction of the performance obligation to deliver Product A. The remaining $20,000 of the additional consideration is allocated to the remaining performance obligations at the time of the contract modification.
The consideration initially allocated to Product B ($600,000) plus the additional variable consideration ($20,000) and the $300,000 promised in the modification now give a total transaction price for the new contract of $920,000. This is allocated equally to the promise to deliver Product B and the promise to deliver Product C. Therefore $460,000 is allocated to each performance obligation.
KTL recognises $460,000 revenue on 1 August 2016 on satisfaction of the performance obligation relating to Product B and another $460,000 revenue on 1 October 2016 on satisfaction of the performance obligation relating to Product C.


6.
Contract Costs
6.1
Costs of obtaining a contract
6.1.1
Any non-incremental costs of obtaining a contract are recognised immediately in profit or loss, unless they can be charged to the customer regardless of whether the contract is obtained.

6.1.2
Incremental costs of obtaining a new contract are recognised as an asset if the costs are expected to be recovered.

6.1.3
They are amortised on a basis that reflects the transfer of goods or services to the customer.

6.1.4
The incremental costs of obtaining a new contract can be expensed if the amortization period would have been one year or less.
	6.1.5
	Example 17 – Costs of obtaining a contract

	
	Pay Day Company (PDC) enters into service contracts to manage a customer's payroll operations for five-year terms. The contracts may be subsequently renewed on a one-year rolling basis and the average customer term is eight years. PDC pays its sales staff a commission of $40,000 when a new customer signs an initial contract.
On 1 August 20X5, the PDC sales staff secured a new customer contract.

How is the cost of commission of $40,000 accounted for?

Solution:

The $40,000 is an incremental cost of obtaining a new contract, and PDC expects to recover the cost through future fees charged to the customer for the provision of payroll services.
Therefore the $40,000 is recognised as an asset and amortised over a period to reflect the transfer of services to the customer. Although the original contract is for five years, this is usually extended for a further three years and so the amortisation period is eight years.
Therefore the annual amortisation charge is $5,000 ($40,000/8 years).


6.2
Costs of fulfilling a contract
6.2.1
Any costs incurred to fulfil a contract that fall within the scope of another standard are accounted for in accordance with that standard (e.g. HKAS 2, HKAS 16, HKAS 38).

6.2.2
HKFRS 15 requires that the following costs are recognised as an expense when incurred:
(a)
General and administrative costs

(b)
Abnormal costs such as wasted material that are not reflected in the cost of the contract

(c)
Costs relating to performance obligations that have already been satisfied

(d)
Costs that an entity cannot distinguish as relating to satisfied or unsatisfied performance obligations
6.2.3
Costs incurred fulfilling a contract that do not fall within the scope of another standard and are not identified above are recognised as an asset if all of the following conditions are met:
(a)
The costs relate directly to a contract or anticipated contract.

(b)
The costs generate or enhance resources of the entity that will be used to satisfy performance obligations in the future.

(c)
The costs are expected to be recovered.
6.2.4
Costs that relate directly to a contract or anticipated contract include direct labour, direct materials, allocations of costs that relate directly to contract activities, costs that are explicitly chargeable to the customer under the contract and other costs that are incurred only because an entity entered into a contract e.g. subcontractor costs.
	6.2.5
	Example 18 – Costs of fulfilling a contract

	
	On 1 June 2015, Rainy Day Company (RDC) enters into a contract to manage a customer's information technology data centre for six years (average customer term is also six years) at an annual cost of $1.2 million. RDC designs and builds a technology platform for its own internal use that interfaces with the customer's systems prior to the contract commencing on 1 August 2015. The platform is not transferred to the customer. The initial costs to set up the platform are:
$

Design services

400,000

Hardware

650,000

Software

480,000

Migration and testing of data

550,000
Total

2,080,000
How should these costs be accounted for in accordance with HKFRS 15?
Solution:
Any costs incurred to fulfil a contract that falls within the scope of another standard are accounted for in accordance with that standard. Therefore:
· The hardware is property, plant and equipment and the cost is accounted for in line with HKAS 16;

· The software is an intangible asset and its cost is accounted for in line with HKAS 38;

· The remaining costs (design services and migration and testing of data) should be assessed as costs to fulfil a contract under HKFRS 15. They are recognised as an asset if:
· The costs relate directly to an identifiable contract or anticipated contract.
· The costs generate or enhance resources of the entity that will be used to satisfy performance obligations in the future.

· The costs are expected to be recovered.
In this case the costs do relate directly to an identifiable contract and generate/enhance resources used to fulfil the contract. They are expected to be recovered by virtue of the total income from the contract of $7.2 million ($12m × 6 years) exceeding the costs.
Therefore these costs are recognised as an asset and amortised over the average customer term of six years.


7.
Presentation of Contracts with Customers
7.1
Presentation

7.1.1
In the statement of financial position, a contract with customers may be recognized as any of:

	Contract asset
	Entity's right to consideration in exchange for goods or services that it has transferred to a customer when that right is conditional on something other than the passage of time (for example the entity's performance), i.e. if an entity transfers goods or services to a customer before the customer pays consideration, the entity shall present the contract as a 'contract asset', unless it is presented as a receivable. A contract asset is assessed for impairment in line with HKFRS 9 guidance.

	Receivable
	Entity's right to consideration that is unconditional, i.e. only the passage of time is required before payment is due. A receivable is accounted for in line with HKFRS 9; upon initial recognition, any difference between the measurement of the receivable and the corresponding amount of revenue is presented as an expense.

	Contract liability
	Entity's obligation to transfer goods or services to a customer for which the entity has received consideration (or the amount is due) from the customer, i.e. if a customer pays consideration before the entity transfers goods or services to the customer, the entity shall present the contract as a 'contract liability'.


7.1.2
HKFRS 15 permits an entity to use a term other than 'contract asset' or 'contract liability' in its financial statements. If an alternative term is used for 'contract asset' sufficient information must be provided to distinguish this amount from receivables.
	7.1.3
	Example 19 – Contract assets and liabilities

	
	AB Company enters into a cancellable contract with a customer on 18 August 2016, agreeing to transfer goods to the customer on 30 September 2016. The contract requires the customer to pay AB Company $120,000 on 31 August 2016; the customer pays on 7 September 2016.
Required:

(a)
What journal entries are required to recognise this transaction at each relevant date?

(b)
How do the entries differ if the contract is non-cancellable?
Solution:
(a)
7 September – when cash is received before the entity transfers goods or services:
Dr. ($)

Cr. ($)

Bank
120,000
Contract liability
120,000
30 September – when goods or services are transferred:

Dr. ($)

Cr. ($)

Contract liability
120,000
Revenue
120,000
(b)

31 August – when the entity has unconditional right to the consideration:
Dr. ($)

Cr. ($)

Receivable
120,000
Contract liability
120,000
7 September – when cash is received before the entity transfers goods or services:
Dr. ($)

Cr. ($)

Bank
120,000
Receivable
120,000
30 September – when goods or services are transferred:

Dr. ($)

Cr. ($)

Contract liability
120,000
Revenue
120,000



7.2
Offsetting

7.2.1
HKFRS 15 makes the following points about offsetting:

(a)
A single contract is presented either as a net contract asset or a net contract liability. Any unconditional right to consideration is presented as received separately.

(b)
Contract assets and liabilities in respect of different customers are not offset.
8.
Disclosure
8.1
General disclosure

8.1.1
HKFRS 15 requires that an entity provides both qualitative and quantitative information about:

(a)
Its contracts with customers;

(b)
The significant judgments and changes in judgments made in applying HKFRS 15 to those contracts; and

(c)
Any assets recognised from the costs to obtain or fulfil a contract with a customer.
8.2
Contracts with customers
8.2.1
Revenue from contracts with customers (separately from other sources of revenue) in categories that depict how the nature, timing, amount and uncertainty of revenue and cash flows are affected by economic factors (e.g. by type of goods or geographical area). Sufficient information should be disclosed to enable users to understand the relationship between the disclosure of disaggregated revenue and revenue information that is disclosed for each reportable segment (where HKFRS 8 is applied).
8.2.2
Impairment losses recognised on receivables or contract assets arising from contracts with customers (by category, as above).

8.2.3
The opening and closing balances of receivables, contract assets and contract liabilities and explanation of significant changes in contract assets and liabilities, including both qualitative and quantitative information.

8.2.4
Revenue recognised in the reporting period that was included in the contract liability balance at the start of the period and revenue recognised in the period from performance obligations satisfied in previous periods (e.g. due to changes in transaction price).

8.2.5
A description of performance obligations including:
(a)
When they are typically satisfied

(b)
Significant payment terms

(c)
The nature of goods or services that an entity has promised to transfer, highlighting obligations to arrange for another party to transfer goods or services

(d)
Obligations for returns, refunds and similar obligations

(e)
Types of warranties and related obligations
8.2.6
The transaction price allocated to performance obligations that are unsatisfied at the end of the reporting period and an explanation of when related revenue is expected to be recognised. This information need not be disclosed if the performance obligation is part of a contract lasting 12 months or less or the entity recognises revenue from the satisfaction of the performance obligation in the amount that it has a right to invoice (because the amount that directly corresponds with the value to the customer of the entity's performance completed to date).
	8.2.7
	Example 20 – Disaggregation of revenue quantitative disclosure

	
	HKFRS 15 provides the following example of disclosure relating to the disaggregation of revenue:
[image: image6.emf]



	8.2.8
	Example 21 – Disclosure of transaction price relating to remaining performance obligations

	
	On 1 January 20X5, an entity enters into a contract with a customer to construct a commercial building for fixed consideration of $100 million. The construction of the building is a single performance obligation that the entity satisfies over time. At the year end of 31 December 20X5, the entity has recognised $32 million of revenue. The entity estimates that construction will be completed in 20X6, but it is possible that the project will be completed in the first half of 20X7.
Draft a disclosure note relating to unsatisfied performance obligations.

Solution:

As at 31 December 20X5, the aggregate amount of transaction price relating to the remaining performance obligations is $68 million. The entity will recognise this as revenue over time as construction continues. If the building is completed within 12 months, the full $68 million will be recognised in the year ended 31 December 20X6; otherwise an amount relating to the stage of completion will be recognised in the year ended 31 December 20X6 and the remainder will be recognised in the year ended 31 December 20X7.


8.3
Significant judgements
8.3.1
Determining the timing of satisfaction of performance obligations. For the timing of satisfaction of performance obligations.
(a)
Methods used to recognise revenue (input or output methods)

(b)
An explanation of why these methods provide a faithful depiction of the transfer of goods and services
8.3.2
Determining the transaction price and amounts allocated to performance obligations. An entity must disclose information about methods, inputs and assumptions related to:
(a)
Determining the transaction price, including variable consideration, adjustments for the time value of money and measurement of non-cash consideration

(b)
Assessing whether an estimate of variable consideration is constrained

(c)
Allocating the transaction price, including estimations of stand-alone selling prices and allocation of discounts

(d)
Measuring obligations for returns and refunds
8.4
Assets recognized

8.4.1
The following disclosures are required:

(a)
A description of the judgements made to determine the amount of costs incurred to obtain/fulfil a contract with a customer and the method used to determine amortisation for each period.

(b)
The closing balances of assets recognised to obtain/fulfil a contract with a customer by main category of asset.

(c)
Amortisation and impairment losses recognised in the period.
8.4.2
If an entity uses the practical expedient about the existence of a significant financing component or the incremental costs of obtaining a contract, that must be disclosed.
9.
Specific Applications
9.1
Sales with a right of return

9.1.1
A right of return means that a customer can return goods to the seller and receive in exchange a full or partial refund, a credit note, another product or any combination of these. Rarely, a right of return may be attached to a service.

9.1.2
When goods are transferred with a right of return:
(a)
Revenue is recognized to the extent that the seller expects to be entitled to it;

(b)
A refund liability is recognized for the consideration received that the seller does not expect to be entitled to; and

(c)
An asset is recognized for the right to recover products from the customer on settling the refund liability. Corresponding adjustment is made to cost of sales.

9.1.3
The asset needs to be:
(a)
measured at the former carrying amount of the products less any expected decreases in value and other costs to recover the products;

(b)
presented separately from the refund liability;

(c)
remeasured to reflect changes in expectations about the products to be returned at each reporting date.

	9.1.4
	Example 22 – Right of return

	
	ABC Company sells 100 products for $100 each to BBC Company for cash. ABC allows BBC to return any unused product within 30 days and receive a full refund. The cost of each product is $60. To determine the transaction price, ABC decides that the approach that is most predictive of the amount of consideration to which it will be entitled is the most likely amount. Using the most likely amount, ABC estimates that:

1.
Three products will be returned.

2.
The costs of recovering the products will be immaterial.

3.
The returned products are expected to be resold at a profit.

Required:

How should ABC record this sale?

Solution:

Upon transfer of control of the products, ABC recognizes:

(a)
revenue of $9,700 ($100 × 97);

(b)
refund liability for $300 ($100 × 3);

(c)
an asset of $180 ($60 × 3) for its right to recover products from customers on settling the refund liability;

(d)
cost of sales $5,820 ($60 × 97).
ABC records the sale as follows
Dr. ($)

Cr. ($)

Cash
10,000
Sales revenue
9,700
Refund liability
300
ABC also records the related cost of goods sold with the following entry:

Dr. ($)

Cr. ($)

Cost of sales
5,820
Estimated inventory return (asset)
180
Inventory

6,000

When a return occurs, ABC should reduce the refund liability and estimated inventory returns accounts. In addition, ABC recognizes the return inventory in a returned inventory account as shown in the following entries for the return of two products.
Dr. ($)

Cr. ($)

Refund liability (2 × $100)
200
Accounts payable
200
Returned inventory (2 × $60)
120
Estimated inventory returns
120
ABC records the returned asset in a separate account from inventory to provide transparency. The carrying value of the returned asset is subject to impairment testing, separate from the inventory.
If ABC is unable to estimate the level of returns with any reliability, it should not report any revenue until the returns become predictive.


9.2
Warranties
9.2.1
A sale transaction may include three types of warranty:
(a)
A standard warranty provided by a manufacturer or retailer. This usually provides assurance that a product will function as intended (often for a specified period of coverage).

A standard warranty is accounted for in accordance with HKAS 37.

(b)
An additional (or extended) warranty that a customer has the option to purchase.

This is accounted for as a separate performance obligation and allocated a portion of the transaction price in accordance with HKFRS 15.

(c)
An additional (or extended) warranty at no cost that provides an additional service beyond the assurance that a product will function as intended.

Again this is accounted for as a separate performance obligation and allocated a portion of the transaction price in accordance with HKFRS 15.
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9.2.2
When considering whether a warranty is standard or extended, HKFRS 15 requires that the following factors are considered:
(a)
whether the provision of the warranty is a legal requirement; this would indicate that it is a standard warranty;

(b)
the length of the warranty period – the longer the period, the more likely it is to be an additional or extended warranty;

(c)
the nature of the tasks promised within the warranty and whether they relate to providing assurance that a product will function as intended.

	9.2.3
	Example 23 – Warranties

	
	M Ltd sold 1,000 units of product X during 2016 at a total price of $6,000,000, with a warranty guarantee that the product was free of any defects. The cost of product X sold is $4,000,000. The term of the assurance warranty is 2 years, with an estimated cost of $30,000. In addition, M Ltd sold extended warranties related to 400 units of product X for 3 years beyond the 2-year period for $12,000.

Required:

What are the journal entries that M Ltd should make in 2016 related to the sale and the related warranties?

Solution:

To record the revenue and liabilities related to the warranties:
Dr. ($)

Cr. ($)

Cash ($6,000,000 + $12,000)
6,012,000
Warranty expense
30,000
Warranty liability
30,000
Unearned warranty revenue
12,000
Sales revenue

6,000,000

To record inventory and recognize cost of goods sold:
Dr. ($)

Cr. ($)

Cost of sales
4,000,000
Inventory

4,000,000
M Ltd reduces the warranty liability account over the first two years as the actual warranty costs are incurred.
The company also recognizes revenue related to the service-type warranty over the three-year period that extends beyond the assurance warranty period (two years). In most cases, the unearned warranty revenue is recognized on a straight-line basis. The costs associated with the service-type warranty are expenses as incurred.


9.3
Transactions involving an agent
9.3.1
In a sales transaction the seller may be the principal or an agent, selling goods on behalf of another party:
(a)
A principal controls the goods or services before they are transferred to the customer.

(b)
An agent does not have control over the goods or services, but arranges for them to be provided to the customer by another party.
9.3.2
Where a contract contains more than one specified good or service, the seller may be principal for some and agent for others. The seller should therefore identify the specified goods and service within the contract and assess whether it controls each before transfer to the customer.
9.3.3
When another party is involved in providing goods or services to a customer, the principal obtains control of any of the following:
(a)
A good or another asset from the other party that it then transfers to the customer
(b)
A right to a service to be performed by the other party, which gives the principal the ability to direct that party to provide the service to the customer on the principal's behalf
(c)
A good or service from the other party that it then combines with other goods or services in providing the specified good or service to the customer
9.3.4
Indicators that the seller controls the goods or services before transfer to the customer (and is therefore a principal) include the following:
(a)
The seller is primarily responsible for fulfilling the promise to provide the specified goods or services, e.g. it has the responsibility for the goods or services meeting customer specifications.

(b)
The seller has inventory risk before the specified good or service has been transferred to the customer or after transfer of control to the customer.

(c)
The seller has discretion in setting prices for the specified goods or services (although an agent may have some flexibility in setting prices).
9.3.5
Accounting treatment:
(a)
In the case of a principal, the performance obligation is to provide goods or services and it is satisfied when the relevant goods or services are transferred to the customer. Revenue is recognised at this point (or over this period of time) and is measured as the gross amount of consideration expected to be entitled and received from the customer.
(b)
In the case of an agent, the performance obligation is arranging for goods/services to be provided by another party. Revenue is measured at the fee or commission that the seller expects to be entitled to in exchange for arranging for the provision of goods/services to the customer.
	9.3.6
	Example 24 – Principle-agent relationship

	
	Fly-Away Travel (FAT) sells airplane tickets for British Airways (BA) to various customers.

Required:

What are the performance obligations in this situation and how should revenue be recognized for both the principal and agent?

Solution:

The principal in this case is BA and the agent is FAT. Because BA has the performance obligation to provide air transportation to the customer, it is the principal. FAT facilitates the sale of the airline ticket to the customer in exchange for a fee or commission. Its performance obligation is to arrange for BA to provide air transportation to the customer.
Although FAT collects the full airfare from the customer, it then remits this amount to BA less the commission. FAT therefore should not record the full amount of the fare as revenue on its books – to do so overstates revenue. Its revenue is the commission, not the full price. Control of performing the air transportation is with BA, not FAT.


9.4
Licensing
9.4.1
When an entity grants a licence, it allows a customer to access intellectual property such as software, patents, trademarks, franchises, copyrights and media (e.g. films).

9.4.2
The promise to grant a licence may be accompanied by the promise to transfer other goods or services:
(a)
Where the promise to grant a licence is not distinct from the promised goods and services, the goods, services and licence are combined as one single performance obligation (e.g. software that requires ongoing upgrade services in order to function or a software hosting agreement on an internet site). This performance obligation may be satisfied at a point in time or over time and this should be determined in accordance with HKFRS guidance.
(b)
Where the promise to grant a licence is distinct, it forms a separate performance obligation from that for goods and services.
Where the promise to grant a licence is a separate performance obligation, revenue is either recognised at a point in time or over time depending on the nature of the contract.
9.4.3
Where the licence allows the customer access to the vendor's intellectual property as it exists at any given time in the licence period (i.e. the vendor continues to support and update the intellectual property), this is a performance obligation satisfied over time.
9.4.4
Where the licence allows the customer access to the vendor's intellectual property as it exists at the date the licence is granted, this is a performance obligation satisfied at a point in time.
	9.4.5
	Example 25 – Licensing

	
	(a)
A film company licences a short animated film to a customer for a period of three years under a non-cancellable contract. During this time, the customer can use the film in all types of marketing campaigns within a specified geographical region. The contract requires the customer to pay the film company $25,000 per month.
(b)
A fast food company 'PizzaTheAction' grants a franchise licence to a customer, allowing the customer to use the brand 'PizzaTheAction' and sell company products for a ten-year period. During the ten-year period, PizzaTheAction management will perform customer analysis, continuously improve the product and advertise the brand, all of which will affect the franchise licence.
Required:

Explain how the revenue arising from these transactions is recognized.

Solution:

(a)
The film company is providing access to the animated film in its condition at the start of the contract. The film company will not provide further services in relation to the film (e.g. improving or updating it). Therefore the film company recognises all of the revenue at the point in time at which the customer is able to use (and so receive the benefits of) the animated film.
(b)
PizzaTheAction is providing access to its intellectual property as it exists throughout the licence period (i.e. the customer will benefit from continuous improvements and marketing etc). Therefore the performance obligation is satisfied over time and PizzaTheAction recognises revenue over the licence period.


9.5
Royalties
9.5.1
Consideration in a contract to licence intellectual property may be a royalty that is measured by reference to sales or usage. In this case, the seller recognises revenue when the later of the following events occurs:
(a)
The subsequent sale or usage arises.

(b)
The performance obligation to which some or all of the sales or usage based royalty has been allocated has been satisfied (or partially satisfied).
9.6
Repurchase agreements

9.6.1
In order to release funds, a company may sell an asset to another party with an agreement (or option) to repurchase it at a future date, often at a higher price. The repurchased assed may be:
(a)
The original asset that was sold to the other party,

(b)
An asset that is substantially the same as the original asset that was sold to the other party, or

(c)
Another asset of which the original asset that was sold is a component.
9.6.2
This is common in industries where stocks take a period of time to mature, such as malt whisky production. In this case, vats of whisky are sold to a bank for the period that they take to mature.

9.6.3
Repurchase agreements may be one of three types:
(a)
The selling entity has an obligation to repurchase the asset
(b)
The selling entity has the right to repurchase the asset (a call option)
(c)
The customer has the right to make the selling entity repurchase the asset (a put option)
(a)
Selling entity has obligation or right to repurchase

9.6.4
In either of the first two types of arrangement, control of the asset does not transfer to the customer because they have limited ability to use the asset and obtain its benefits. Here the accounting treatment depends on the repurchase price in relation to the selling price:
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9.6.5
When comparing repurchase price with selling price, the time value of money should be considered.

(b)
Customer has right to enforce repurchase
9.6.6
The accounting treatment depends on the relationship between the original selling price and the repurchase price and whether the customer would have a significant economic incentive to force repurchase at the start of the arrangement.

9.6.7
When considering whether there is a significant economic incentive, various factors should be considered, including the relationship of the repurchase price to the market value of the asset at the date of repurchase.
9.6.8
Repurchase price less than selling price:
(a)
If the customer would not have a significant economic incentive to force a repurchase (e.g. because the repurchase price is lower than the expected market value), the contract is accounted for as a sale with a right of return.

(b)
If the customer would have a significant economic incentive to force a repurchase (e.g. because the repurchase price is equal to or more than the expected market value), and the contract is not part of a sale and leaseback transaction, the contract is accounted for as a lease in accordance with HKAS 17.

(c)
If the customer would have a significant economic incentive to force a repurchase and the contract is part of a sale and leaseback transaction, the asset is not derecognised and consideration received from the customer is recognised as a financial liability in accordance with HKFRS 9.
9.6.9
Repurchase price equal to or greater than selling price:
(a)
If the repurchase price is more than the expected market value, the contract is a financing arrangement and accounted for as described in “selling entity has obligation or right to repurchase.

(b)
If the repurchase price is less than or equal to the expected market value and the customer doesn't have a significant economic incentive to exercise their right, the contract is accounted for as the sale of a product with a right of return.
	9.6.10
	Example 26 – Sale and repurchase

	
	Denton Developments Ltd (DDL) sold a property to Bay Bank on 1 March 2015 for $12 million; DDL has the right to repurchase the property on or before 28 February 2018 for $13.5 million. The applicable effective rate is 4%.
Required:

Explain how the sale and repurchase transaction is accounted for.

Solution:
DDL has the right to repurchase the property for a price in excess of the selling price. Therefore this is a financing arrangement and is accounted for as follows:
· The property is retained in DDL's statement of financial position and continues to be accounted for in line with applicable accounting standards;

· A loan of $12 million is recognised at 1 March 2015.

· The $12 million loan balance is wound up to $13.5 million over the three-year period based on the effective rate:
Year

B/f
Interest at 4%
C/f
28 Feb 2016
12,000,000
480,000
12,480,000
28 Feb 2017
12,480,000

499,200

12,979,200

28 Feb 2018

12,979,200

520,800*

13,500,000

*Difference due to rounding.


9.7
Consignment arrangements
9.7.1
Consignment arrangements are common in the motor industry. Often a car manufacturer will enter into an arrangement with a car dealer such that the dealer takes and displays vehicles with a view to selling them to a customer. In a situation such as this, the dealer does not obtain control of the cars at the point of delivery and therefore the manufacturer cannot recognise any revenue.
9.7.2
Indicators that an arrangement is a consignment arrangement include:
(a)
The product is controlled by the seller (manufacturer) until a specified event occurs (e.g. the product is sold onwards or a specified period of time expires).

(b)
The seller (manufacturer) can require the return of the product or transfer it to another party.

(c)
The customer (dealer) does not have an unconditional obligation to pay for the product.
9.8
Bill and hold arrangements

9.8.1
A bill and hold arrangement is a contract under which a customer is billed for a product but it is physically retained by the seller until it is transferred to the customer in the future.

9.8.2
In order for the seller to recognise revenue in this situation, control of the goods must have passed to the customer. Control may pass at the point of delivery or when the product is shipped or at an earlier date i.e. the customer may obtain control even though the seller has physical possession of the product.

9.8.3
In a bill and hold arrangement, in order for control to have passed, HKFRS 15 requires that the following criteria must all have been met:
(a)
The reason for the bill and hold must be substantive (e.g. requested by the customer).

(b)
The product must be identified as belonging to the customer.

(c)
The product must be ready for physical transfer to the customer.

(d)
The entity cannot be able to use the product or transfer it to another customer.
9.8.4
If revenue is recognised on a bill and hold basis (i.e. control passes but the seller retains physical possession of the product), the seller should consider whether to allocate a proportion of the transaction price to the provision of a storage service.
	9.8.5
	Example 27 – Bill and hold

	
	Kaya Company sells $450,000 (cost $280,000) of fireplaces on March 1, 2017, to a local shop, Baristo, which is planning to expand its locations around the city. Under the agreement, Baristo asks Kaya to retain these fireplaces in its warehouse until the new coffee shops that will house the fireplaces are ready. Title passes to Baristo at the time the agreement is signed.

Required:

When should Kaya recognize the revenue from this bill-and-hold arrangement?

Solution:

When to recognize in a bill-and-hold arrangement depends on the circumstances. Kaya determines when it has satisfied its performance obligation to transfer a product by evaluating when Baristo obtains control of that product. For Baristo to have obtained control of a product in a bill-and-hold arrangement, all of the following criteria should be met:
(a)
The reason for the bill-and-hold arrangement must be substantive.

(b)
The product must be identified separately as belonging to Baristo.

(c)
The product currently must be ready for physical transfer to Baristo.

(d)
Kaya cannot have the ability to use the product or to direct it to another customer.

In this case, it appears that the above criteria were met, and therefore revenue recognition should be permitted at the time the contract is signed. Kaya has transferred control to Baristo, that is, Kaya has a right to payment for the fireplaces and legal title has transferred.

Kaya makes the following entry to record the bill-and-hold sale and related cost of goods sold.

Dr. ($)

Cr. ($)

Accounts receivable
450,000
Sales revenue

450,000

Cost of goods sold
280,000
Inventory

280,000



9.9
Options for additional goods and services
(a)
Additional goods and services for free or at discounted price

9.9.1
A contract with a customer may include a customer option to acquire additional goods or services either free or at a discounted price.

9.9.2
This is often achieved through the seller providing a customer with award credits or 'points' in a loyalty scheme when they make a purchase. Such schemes are commonly provided by airlines.

9.9.3
The option to acquire additional goods or services is a separate performance obligation in the initial sale contract when it provides a material right to the customer that they wouldn't receive otherwise.
9.9.4
When this is the case, the proportion of consideration received from the customer that relates to the future goods or services to be supplied is deferred and recognised as revenue at the earlier of:
(a)
The date on which the future goods and services are provided, or

(b)
The date on which the option to acquire the additional goods and services expires.
9.9.5
Allocation of consideration is based on stand-alone selling prices of the goods or services, which may have to be estimated for future potential goods or services. The estimate should take into account the discount that the customer would obtain on the exercise of the option, adjusted for:
(a)
Any discount that the customer could receive without exercising the option, and

(b)
The likelihood that the option will be exercised.
(b)
Additional goods and services at stand-alone selling price
9.9.6
A customer may have the option to acquire an additional good or service at a price that reflects the stand-alone selling price. In this case, that option does not provide the customer with a material right, even if the option can only be exercised by entering into a previous contract.

9.9.7
Here the entity has made a marketing offer that is accounted for in accordance with HKFRS 15 when the customer exercises the option to purchase additional goods and services.
	9.9.8
	Example 28 – Customer loyalty scheme

	
	Wake Up Coffee Ltd (WUCL) operates a customer loyalty scheme whereby if a customer buys nine coffees and has their loyalty card stamped, the tenth coffee is provided free of charge. During 2016 customers buy 94,995 coffees for an average of $35 each, so earning the right to a maximum of 10,555 free coffees, each of which has an average stand-alone price of $35. WUCL expects 7,400 of the free coffees to be claimed and by 31 December 2016, 5,250 have been claimed.

Required:
Explain how revenue is recognised on the sale of coffees.
Solution:
The loyalty scheme provides customers with a material right that they would not benefit from if they had not bought coffees in a normal sale transaction. Therefore the promise to provide a free tenth coffee is a performance obligation, and total revenue of $3,324,825 (94,995 × $35) is allocated between the sale of coffees and the loyalty scheme.
Revenue is allocated to the provision of 'stamps' based on the expected take up rate and the stand-alone selling price basis i.e. based on a total stand-alone selling price of $259,000 (7,400 × $35):
$
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At 31 December 2016, 5,250 of the expected 7,400 free coffees have been claimed, therefore of the $240,282 transaction price allocated to loyalty stamps:
· $170,470 (5,250/7,400 × $240,282) is recognised as revenue.

· 69,812 is recognised as a contract liability for the unredeemed loyalty stamps.

Therefore total revenue recognised in 2016 is $3,255,013 (3,084,543 + 170,470).


9.10
Non-refundable upfront fees
9.10.1
A customer may be charged an upfront fee at the start of a contract to provide goods or services e.g. a health club joining fee.

9.10.2
In this case, the seller is required to assess whether the upfront fee relates to the transfer of a promised good or service.

9.10.3
Often this is not the case and the upfront fee is a prepayment for the goods or services that are provided over the length of the contract (and possibly beyond this if there is an option to renew the contract). In this case, the upfront fee is recognised over the initial contract period, and any optional extension period if the option to extend provides the customer with a material right that would not otherwise be available.
	9.10.4
	Example 29 – Non-refundable upfront fee

	
	Erica signs a 1-year contract with Bigelow Health Club (BHC). The terms of the contract are that Erica is required to pay a non-refundable initiation fee of $200 and an annual membership fee of $50 per month. BHC determines that its customers, on average, renew their annual membership two times before terminating their membership.

Required:

What is the amount of revenue BHC should recognize in the first year?

Solution:

In this case, the membership fee arrangement may be viewed as a single performance obligation (similar services are provided in all periods). That is, BHC is providing a discounted price in the second and third years for the same services, and this should be reflected in the revenue recognized in those periods.

BHC determines the total transaction price to be $2,000 – the upfront fee of $200 and the 3 years of monthly fees of $1,800 ($50 × 36) – and allocates it over the 3 years. In this case, BHC would report revenue of $55.56 ($2,000 ÷ 36) each month for 3 years.
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